6. Three year mortality Forest plot

Surgery + HIPEC Surgery Odds Ratio Odds Ratio
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
6.1.1RCTs
Beeharry 2019 2 40 2 40 8.6% 1.00[0.13, 7.47]
Yang 2011 32 34 34 34 11.1% 0.19[0.01, 4.07] * =
Subtotal (95% CI) 74 74 19.7% 0.54 [0.11, 2.62] —-‘-—
Total events 34 36

Heterogeneity: Chi* = 0.81,df=1 (P = 0.37); P =0%
Test for overall effect: Z=0.76 (P = 0.45)

6.1.2 NRCT

Xie 2020 9 51 24 62 80.3%  0.34[0.14,0.82] I
Subtotal (95% CI) 51 62 80.3% 0.34 [0.14, 0.82]

Total events 9 24

Heterogeneity: Not applicable
Test for overall effect: Z = 2.40 (P = 0.02)

Total (95% CI) 125 136 100.0% 0.38 [0.18, 0.82] i
Total events 43 60
Heterogeneity: Chi? = 1.15, df = 2 (P = 0.56); I* = 0%

Test for overall effect: Z = 2.47 (P = 0.01)

Test for subgroup differences: Chi? = 0.26, df =1 (P = 0.61), = 0%
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